log (T*) LABJNDuUS5 triangle lightness T*

T* Y=L w nc=100,

T*L aBanbus =[IN[A 1n+A2YV)I/(A 20A0n)] (Ya/100<Y<=Y,c)
T*N(3,6)=219,T*(18)=498,T*(90)=776

log[T*/T*

LABJINDu5
tristimulus value difference
YacmL*w  nc=100,
T*LaBanDus =[N[A 10+A2a)I/(A 20A0n)] (Ync/200<Y<=Y,0)
dY=Agn(A1tAsyY)  A4=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dYg=0,53, Ay=1,000, G=1,00

dY;4=0.12, A=0.017, Agn 0,0058
dY3,=0,03 Y,=18, dY=0,12

T*,=498 dY,=0,12 dY,/Y, O(‘JF/ 0’

log (AY/Y) LABJINDU5
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDUs=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Yn/100<Y<=Y,c)
AYIY=Agr A1 Az Y Y

(dY/Ypg=0,0059, Ay=L

(dY/Y)=0,0067, A =0 ,Ag
(dY/Y%FO 2105 Y, 13 dY=0,12

0, O

T*,=498 dY,=0,12 dY,/Y,=0, 0067|

:YU:18
Yw=90

Yn=3.6

LABJINDu5
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Yad/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

(Y/dY}=166,97, A,=1,000, ¢=1,00
(Y/dY)g=148,27, A=0,017, A,=0,0058
(YIdY} =95 03 218, d=0.12

log (Y/AY)
C,=(Y/AY)

T*,=498 dY,=0,12 Y,/dY,, 148
10g(Y/dY)=2,17, m,=0,13 +-*
-

application
range
Y,=18
2 Yw=90

log (T*/T* ) LABJNDuUS relative triangle lightness T*/T*,
THT* YocmL*w - nc=100,

T*Laganbus =[IN[A 1n+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#n(3,6)=219,T* ,(18)=498.T*(90)=776
T*odT*,=1,55, Apr=L,000, ¢=1,00
T 0,017, A,=0,0058
T* dT* =0, 43 T, —498 ,34 Y=1i

log[T*/T*,]=0, m,=0,33
L* =49, T* =498 1
1 application
f range
1y,=18
Yy =90

N=36

LABJNDUS relative

tristimulus value difference

Yoe=L*w ~ ne=100,

T*Laganbus =[IN[A 1n+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYI/dY,

dYoo/dY,=4,43, Ay=1,000, ¢=1,0
0,017, Az =0, o
0,1

log(A Y/AY i)
AYIAY,

Y, g/dY,
deQdY 031\‘?1 =18, dY=0,

T*,=498 dY,;=0,12 dY_/Y,=0, (‘JF. A

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LABINDUS =[IN[(A 10+A2nY)J(A 2nA0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(dY/Y)o/(dY/Y)=0,88, Ay=1,000, ¢=1,00
(AY/Y)(dYIYY=1,00, Ar=0.017, A;=0,0058
(dY/Y%ily(dY/Y‘L <58 ¢‘"_13 ay= 2o

Iog[(dY/YY(dY/Y)J] 0, m=-0, 13 3
T*,=498 dY,=0,12 d¥,/Y,=0,0067,

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganbus =[IN[A 1n+A2nY)V(A 20A0n)] (Yn/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY Y )TA onAgrAgr VY (YIAY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=1,00
(Vi (YIV} =100, Av=0,017 Ay 0,0058
(Y/dY%vd(Y/dY =0,64 Y,=18, dY;=0.1

1
1 application
1 range
'y,=18

Yy =90




